CALIPERS




P/IN XA6.L6.11/12
2 PISTON CALIPER

TYPICAL APPLICATION
School Cars

MOUNTING INFORMATION
Trailing
RH XA6.L6.12
LH XA6.L6.11

TECHNICAL SPECIFICATION

Piston Size [mm] 36 Piston Area [cm2]
Pad Area [cm2]

Pad Thickness [mm]

Pad Family

Disc Thickness [mm]

Hydraulic Threads

Mounting Hole Center [mm]

20.35
32
14.6
wy7n
20
M10x1
114

Leading
RH XA6.L6.14
LH XA6.L6.13

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

29.79
M10x1.5
2 Pieces

Aluminium

1.42
20.56




P/N X97.24.01
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.01 RH X97.24.01
LH X97.24.01 LH X97.24.01
TECHNICAL SPECIFICATION
Piston Size [mm] 38 Piston Area [cm2] 22.68 Mounting Offset [mm] 30.5
Pad Area [cm2] 24.8 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 6.4 -9 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 23.81
18,1
\
pes 3
s £
| i
pozs ]| ||
o | |
83.5
83
30.5
!
g‘, -
e 62
< o ofw e o (=)
=
1 -
TWE 62" FANILY
G0ISC| R |THDISC Vioues | Momaas | TH PAD
poisc| A B | ¢ ] E F MIN | 218 | 116.3 | 6.4 a |as| 15
218 | 163 |1a2s| w2 [ses| 90 | @ max | 218 [1e3 | s o |as]| s




P/N X97.24.10
2 PISTON CALIPER

TECHNICAL SPECIFICATION

Trailing
RH X97.24.10
LH X97.24.10

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Leading
RH X97.24.10
LH X97.24.10

Piston Size [mm] 38 Piston Area [cm2] 22.68 Mounting Offset [mm] 34
Pad Area [cm2] 24.8 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.30
Mounting Hole Center [mm] 95 Fluid Capacity 23.81
P18,
qil 3
- ’ =
g0.23 || | &
' &
oo | | 5}.
=
A
90.5
0
'iL’
1 i
4
i |
) " =
H T =
/. & : 8
< @l o|lo|ww c l %“ M
! =
| R [
TYPE *62° FAMILY
BOISC| A B [c|o]|E B0ISC] R [TH DISC] Vioises | Himss | TH PAD
218 | 163 [142.5] w2 [ 969 | 90 [ @7 218 [ 163 | 18 a |as]| s




P/N X97.24.21

2 PISTON CALIPER

Piston Size [mm]

42

TECHNICAL SPECIFICATION

Piston Area [cm2]

Pad Area [sz]

Pad Thickness [mm]

Pad Family

Disc Thickness [mm]
Hydraulic Threads
Mounting Hole Center [mm]

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.21 RH X97.24.21
LH X97.24.21 LH X97.24.21

27.70 Mounting Offset [mm]
24.8 Mounting Hole Dia. [mm]
15 Caliper Body
"62" Caliper Material
6.4-9 Piston Insert
M10x1 Weight [Kg]
95 Fluid Capacity

30.5

10.23

2 Pieces
Aluminium
1.25

29.09

“p*a 38

e @181
=
| s
B i
#10.23 g
| o2 g}.
8.5
83
30.5

1_ "

__Z
@ IS
ake

P

PoISC| A 8

218 142.5

TYPE *62" FAMILY

$OISC| R |THDISCY Vioomss | Howes | TH PAD
NIN 218 [ 116.3 | B4 4 41.5 15
MAX 218 | 116.3 9 4" 41.5 15




©©) brembo

P/N X97.24.51
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.51 RH X97.24.51
LH X97.24.51 LH X97.24.51
TECHNICAL SPECIFICATION
Piston Size [mm] 42 Piston Area [sz] 27.70 Mounting Offset [mm] 34
Pad Area [sz] 24.8 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 29.09

\306

I

e 1| ||
@20 |
00,5
0
n
SUEE | IS .
| | l
i
=
— Ly N e—
6
o—0
—
T
TYPE “82° FANILY
goic] A | B | C | D | E | T DOISC| R |THDISE] Viseser | Homen | T PAD
218 | 63 |[1A2.5 a2 | 94.9 gl 87 218 116.3 1) i .5 | 18

Y1248




©©) brembo

P/N X97.24.31
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.31 RH X97.24.31
LH X97.24.31 LH X97.24.31
TECHNICAL SPECIFICATION
Piston Size [mm] 44 Piston Area [cm2] 30.41 Mounting Offset [mm] 30.5
Pad Area [cm2] 24.8 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 6.4 -9 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 31.93

-~ g18.1
= dl
| s a
| #10.23 %
220 glN
=
83.5
63 9%
‘so.s
L1
4 A
i 8
i ~ 3= — B -
= 62
5 &
{ j‘ (2
- m oOlo| wow g; S
=
== TYPE *62° FAMILY

SOISC| R |TH DISCY Vioreas | Hiwos | TH PAD
POISC| A 8 c 0 E F HIN 21 [ 116.3 | 6.4 7 41.5 15
218 163 | 12.5| W2 | 349 %0 87 MAX 218 | 116.3 9 4 4.5 15




©©) brembo

P/N X97.24.61
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.61 RH X97.24.61
LH X97.24.61 LH X97.24.61
TECHNICAL SPECIFICATION
Piston Size [mm] 44 Piston Area [sz] 30.41 Mounting Offset [mm] 34
Pad Area [sz] 24.8 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 31.93
#1680
{ - - ?
2 &
. 1 3
810.23 e
o | | %
90.5
%5
3
_’l
= il 2
[S—/0)
s ool wlw r
=
TYPE *62° FAMILY
BOISC| A ] 3 D | E F BOISC| R [THDISC] Visises | Himos | TH PAD
218 | 163 [14z.5] 12 [ 969 | 90 [ &7 218 [ 163 | 18 a |as]| s




©©) brembo

P/IN XA3.G2.11/14
4 PISTON CALIPER

TYPICAL APPLICATION

Rally
MOUNTING INFORMATION
Trailing Leading
RH XA3.G2.12 RH XA3.G2.14
LH XA3.G2.11 LH XA3.G2.13
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [sz] 24.75 Mounting Offset [mm] 53.5
30 Pad Area [sz] 38 Mounting Hole Dia. [mm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 24 -25.4 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 50.74

"Prx50,6

102,2 | "
- 120
63,5 | - e
| ‘ M ’
‘ %8 | !
Y I ©
1 @ !
RS ' ——— ..:_ - —
g |
i ' V] 100
80,2 | &
102,2 ;@ |
< @ ¢ a9 w P -1 L =
=] = 1 =
et TYPE "100* FAMILY
§ 0150] A 0 3 0 E o 01sc| R [T pisc) Weerse)| Wrany [TH PAD
218 | 181 [136,8[ 95,5 ] 94,5 s2 THEETEIRIED 85 | 42,8 | 20
318 |178,5/154,8] 113 [111,8[106,8 wax | 318 [ras,s [as,a | a5 [ a2 | 20

AdeItiNe

21



©©) brembo

P/IN XA2.E7.11/14
4 PISTON CALIPER

TYPICAL APPLICATION

GT
MOUNTING INFORMATION
Trailing Leading
RH XA2.E7.12 RH XA2.E7.14
LH XA2.E7.11 LH XA2.E7.13
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cmz] 32.67 Mounting Offset [mnm] 62
36 Pad Area [cmz] 63 Mounting Hole Dia. [nm] 12.23
Pad Thickness [mm] 25 -26.5 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~Aluminium
Disc Thickness [mm] 32 -35 Piston Insert -
Hydraulic Threads  M10x1 Weight [Kg] 2.95
Mounting Hole Center [mnm] 130 Fluid Capacity 66.97

< o
d $ WS, S
TYPE *"132" FAMILY
0 018C] A ] [ ] 3 po1se] A Jtn 018c] Weerse)| Wiras) | TH PAD
332 | 191 | 188 |112,5]111,5[109,8 wiN | 332 | 140 | a2 53 @ 25
358 | 202 | 179 | 124 | 128 |121,8 war | 3ss [181,7 | 38 53 THEX

RAZETIILN




P/N XAG6.H7.11/14
4 PISTON CALIPER

TECHNICAL SPECIFICATION

Trailing
RH XA6.H7.12
LH XA6.H7.11

TYPICAL APPLICATION
Grand AM

MOUNTING INFORMATION

Leading
RH XA6.H7.14
LH XA6.H7.13

Piston Size [mm] 28 Piston Area [cm2] 32.67 Mounting Offset [mm] 62
36 Pad Area [cm2] 63 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 22 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mnm] 130 Fluid Capacity 57.17
~ - 132
<| d o o o — 1008 g *J "
L » _

- re—ree—r-1 TYPE "132° FAMILY
soise] A [ o [ o [ o ¢ g o1sc] & fro 0xsch Wisssey[ Wiean) [1H PA0
332 | 191 | 188 |112,5/111,6]109,6 wIN | 332 | w0 | 82 53 [T 22
355 | 2oz | 170 | 124 | 123 [121,8 uax | sss [181,7] s2 53 43 22

RARRTIN M




P/N X98.A8.41/44
4 PISTON CALIPER

TECHNICAL SPECIFICATION

Piston Size [mm] 30
36

Piston Area [cm2]

Pad Area [cm2]

Pad Thickness [mm]

Pad Family

Disc Thickness [mm]
Hydraulic Threads
Mounting Hole Center [mm]

TYPICAL APPLICATION
GT

34.49
62

16
"132"
28
M10x1
180

MOUNTING INFORMATION
Trailing
RH X98.A8.42
LH X98.A8.41

Leading
RH X98.A8.44
LH X98.A8.43

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

42

12.28

2 Pieces
Aluminium
Titanium
2.20

39.67




P/IN XA2.E6.31/34
4 PISTON CALIPER

Piston Size [mm]

TECHNICAL SPECIFICATION

TYPICAL APPLICATION
Rally

MOUNTING INFORMATION
Trailing

RH XA2.E6.32
LH XA2.E6.31

Leading
RH XA2.E6.34
LH XA2.E6.33

30 Piston Area [sz] 34.49 Mounting Offset [mm] 42
36 Pad Area [sz] 58 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
"132-H43";"132-
Pad Family H49" Caliper Material ~ Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.20
Mounting Hole Center [nm] 180 Fluid Capacity 56.91
218 3
152
INEB NSNS . % 1
IYPE 132" FAMILY
goisc] A [ B | c | 0| E|F]o[H BOISE| R | THDISC| Visuimes | Miamse | TH PAD
295 | 172 3|152.1|146.] |141,3|104.5| 57.1 | 56.6 | 54.1 N 295 124,7 | 250 7.3 43 16
355 | 1989 179.5 | 171371 169:5 | 138.5 | 126.4| 125 |123.4 Wix_ | 355 (1538 1 o8 | 525 | 4 | 16

e LS




©©) brembo

P/IN XA2.E6.11/14
4 PISTON CALIPER

TYPICAL APPLICATION

Rally
MOUNTING INFORMATION
Trailing Leading
RH XA2.E6.12 RH XA2.E6.14
LH XA2.E6.11 LH XA2.E6.13
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [sz] 48.06 Mounting Offset [mm] 42
42 Pad Area [sz] 58 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
"132-H43";"132-
Pad Family H49" Caliper Material ~Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.20
Mounting Hole Center [mnm] 180 Fluid Capacity 55.28
2n3

1YPE *132* FARILY
gosc) A | 8 E 1ol ELT 0 N BOISC| R |THOISC] Visvees | Mimae | TH PAD
295 |23\ sz |y rar 3 oes] 97 7 | 95,6 | 94 WIK 295 (124 | 354 | 413 L) 16
355 [ 198.5] 179500957 169.6| 13¢5 ] 126. 4] 125 [125.4 WAX 5% (157 | & 32.5 4 1%
FANERIINE




©©) brembo

P/IN XA2.E6.51/54
4 PISTON CALIPER

TYPICAL APPLICATION

MOUNTING INFORMATION

Trailing Leading
RH XA2.E6.52 RH XA2.E6.54
LH XA2.E6.51 LH XA2.E6.53
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [sz] 48.06 Mounting Offset [mm] 48
42 Pad Area [sz] 58 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
"132-H43";"132-
Pad Family H49" Caliper Material ~ Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.20
Mounting Hole Center [nm] 180 Fluid Capacity 55.28

TYPE “132" FAMILY

§ 0ISC| A 3 ¢ 0 E U 0 § DIBC 8 |rw ozsch Wisnsey| Wirasy [TH PAD
205 172, 0[048,1|941,3[104,5] 97,1 | 96,6 | 94,1 v 205 | 124,48 | 26,4 47,3 43 18
355 |108,9|173,T|168,6)|134,5]1268,4| 125 [123,4 LLL 385 | 183,7 2t 52,8 “w 10

EAZEBAISS



P/IN XA4.67.51/54
4 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION
World Series

MOUNTING INFORMATION
Trailing

RH XA4.67.52
LH XA4.67.51

Leading
RH XA4.67.54
LH XA4.67.53

6 PISC| A ’ ¢

278 [166.2]139.3] 88.4

TYPE "132 C-C* FANILY

Piston Size [mm] 36 Piston Area [cmz] 48.06 Mounting Offset [mm] 49
42 Pad Area [cmz] 55 Mounting Hole Dia. [nm] 12.23
Pad Thickness [mm] 23 Caliper Body 2 Pieces
Pad Family "132-H43" Caliper Material ~Aluminium
Disc Thickness [mm] 28 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 152 Fluid Capacity 132.1
S
-
120,80 - 182 -
108,8 $
pin
-
N — r I— - 132
< ool a w kW 0 I 8]:
|

b DISC ]

TH DISE] Nearae

N orasn) |[TH PAD

2710 (e | 1

| 44

“ 21




P/IN XA2.E7.01/04
4 PISTON CALIPER

GT

Trailing
RH XA2.E7.02
LH XA2.E7.01

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

MOUNTING INFORMATION

Leading
RH XA2.E7.04
LH XA2.E7.03

Piston Size [mm] 38 Piston Area [cmz] 50.39 Mounting Offset [mnm] 62
42 Pad Area [cmz] 63 Mounting Hole Dia. [nm] 12.23
Pad Thickness [mm] 25 -26.5 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~Aluminium
Disc Thickness [mm] 32 -35 Piston Insert -
Hydraulic Threads  M10x1 Weight [Kg] 2.95
Mounting Hole Center [mnm] 130 Fluid Capacity 103.3
®
= 35945 = T | “ypist 4
, 17,8 | M e
r 82 0
v |
— | . —
L ' S|
N ot
5 | " g =A%
—r - I \
L 104,58 s T
< wm| @ d| w ;I.‘ ,:1
—— \§ : TYPE *132° FAMILY
0 o18c| A B ¢ ] £ 8 018C| &  frw 018C) Wieasey| Miran) | TH PAD
332 | 181 | tes |132,8]111,8]508,6 wiv | 232 | a0 | 32 53 49 28
ass | 202 | 17e | 124 [ 123 [121,8 wAX | 385 [1s1,7 | ss 83 4 | 26,0

TAZETO) 04




P/N XA4.C6.11/14
4 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION
Trailing

RH XA4.C6.12
LH XA4.C6.11

Leading
RH XA4.C6.14
LH XA4.C6.13

Piston Size [mm] 38 Piston Area [cm2] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm2] 65 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 30 Caliper Body Monobloc
Pad Family "140B";"140C" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 - 35 Piston Insert
Hydraulic Threads M10x1 Weight [Kg] 2.81
Mounting Hole Center [nm] 180 Fluid Capacity 161.9
20,1 269,8
140 140

106,8 102,1
| 42

-
!

8,8
—t

%

TYPE "140C" FAMILY

o o1sc| m fre o1sef Reorse)| Wirae) [TH PAD
# o1sc| & ¢ [} ] 3 F ] 1 L ] u ] win | 228 [134,5 | 32 | sa.5 | s0,5 | 30
328 183 187 |156,8|112,6)109,8|104,8)|100,7| 98,8 | 159 |178,1|107,5|227,1 PAX az28 134,56 38 L1 81,5 n

TAGCHTI I




©©) brembo

P/N XA4.D3.01/04
4 PISTON CALIPER

TYPICAL APPLICATION

Nascar
MOUNTING INFORMATION
Trailing Leading
RH XA4.D3.02 RH XA4.D3.04
LH XA4.D3.01 LH XA4.D3.03
TECHNICAL SPECIFICATION
Piston Size [mm] 38 Piston Area [sz] 53.09 Mounting Offset [mm] 42
44 Pad Area [sz] 66.5 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "140" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 -35 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [nm] 180 Fluid Capacity 135.3
, 284,86 | 0
@21 @4a @38 3

ips

! ’ P12,23 a
®24 sl

;N
L]

TYPE'140 "FAMILY

B DISC R [TH DISC| Wiozwor | H ¢macy |TH PAD

B DISC| A B ¢ D E F ] H 1 328 138 35 53.5 | 40.5 25
328 183 [171.1| 186 |[160.8[151.1|1239.1|112.5(110.3|108.8 324 138 32 53.5 | 48.5 25

KA4D30104




©©) brembo

P/N XA5.09.01/04
4 PISTON CALIPER

TYPICAL APPLICATION

Rally & WTCC
MOUNTING INFORMATION
Trailing Leading
RH XA5.09.02 RH XA5.09.04
LH XA5.09.01 LH XA5.09.03
TECHNICAL SPECIFICATION
Piston Size [mm] 38 Piston Area [cmz] 53.09 Mounting Offset [mm] 42
44 Pad Area [cmz] 60.9 Mounting Hole Dia. [nm] 12.23
Pad Thickness [mm] 17.5 Caliper Body Monobloc
Pad Family "140B";"140C" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert -
Hydraulic Threads  M10x1 Weight [Kg] 2.47
Mounting Hole Center [nm] 180 Fluid Capacity 95.56

TYPE *1408B" FAMILY

<| d| g de‘

9o186] A | 8 | &t | 0 | E| F | 8 8 018C] R [TH DI80] Wisssey] Wiras) |TH PAD
300 |177,8]167,8| 164 | 85,1 | 88,4 | 91,7 | 60,9 Wil | s00 124,58 | 28 | 52,5 | 80,8 | 17,5
355 |187,8]184,8] 177 |121,8]118,3) 80,7 | 81,3 WAX | 3ss |181,2 | 82 60 | 61,5 | 17,

TABORO0104




P/N XA5.90.01/04
4 PISTON CALIPER

TYPICAL APPLICATION
Nascar

MOUNTING INFORMATION

Trailing Leading
RH XA5.90.02 RH XA5.90.04
LH XA5.90.01 LH XA5.90.03
TECHNICAL SPECIFICATION
Piston Size [mm] 38 Piston Area [cm2] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm2] 65 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 20 Caliper Body Monobloc
Pad Family "140B" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert
Hydraulic Threads M10x1 Weight [Kg] 2.40
Mounting Hole Center [nm] 180 Fluid Capacity 108.8
]
i
[ 7 . 140 3
< @ o o W l
L LIS S . TYPE *1408* FAMILY
anisc| A [rR orse] Woerssy| Hieasy [TH PAD
0 0150 A 8 3 0 E G wiv | 328 | 108 | 25 | ss,5 | so,5 | 20
328 |183,2] 168 [160,8[112,7[107,2]102,1 wax | 320 | 138 | sz | 53,5 | se5 | 20

IASITDI 04




©©) brembo

P/N XA5.T70.01/04
4 PISTON CALIPER

TYPICAL APPLICATION
Rally
MOUNTING INFORMATION
Trailing Leading
RH XA5.T0.02 RH XA5.T0.04
LH XA5.T0.01 LH XA5.T0.03
TECHNICAL SPECIFICATION
Piston Size [mm] 38 Piston Area [sz] 53.09 Mounting Offset [mm] 42
44 Pad Area [sz] 60.9 Mounting Hole Dia. [mm]
Pad Thickness [mm] 17.5 Caliper Body Monobloc
Pad Family "140B";"140C" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert
Hydraulic Threads M10x1 Weight [Kg] 2.66
Mounting Hole Center [nm] 180 Fluid Capacity 95.56

140

« o < - i) l&
. = r-";;.}"rx = @
o bbb ety
TYPE *140C" FAMILY
9 0180| A ] 3 [] £ ¥ ] 3 L ] o 015G A [ o1sc| Weoree)| Wirasy | TH PAD
300 |176,6|163, 3150, 7| 118,0|112,5| 9§ | 96,4 |101,5] 42,3 27,2 { M) 300 | 124,35 F1 ) 52,% 50,3 17,8
53 106 189, 5176, 1143, 7 138, 1[127,8113,3| 98,3 | 66,5 | 28,3 x 358 | 18y,2 32 64 61,3 17.%

TASTOQ104




P/IN XA4.10.01/04
4 PISTON F3 CALIPER

TECHNICAL SPECIFICATION

Piston Size [mm] 34
38

Piston Area [cm2]

Pad Area [cm2]

Pad Thickness [mm]

Pad Family

Disc Thickness [mm]
Hydraulic Threads
Mounting Hole Center [mm]

TYPICAL APPLICATION
F3

40.84

36.5

16
"100-H38.5"
16

M10x1

120

MOUNTING INFORMATION
Trailing

RH XA4.10.02
LH XA4.10.01

Leading
RH XA4.10.04
LH XA4.10.03

Mounting Offset [mm] 40
Mounting Hole Dia. [mm] 10

Caliper Body 2 pieces

Caliper Material Aluminium

Piston Insert -
Weight [Kg] 1.30
Fluid Capacity 51.05

718

goisc

B DISG| A B ¢

278 156 | 143 | 140 |96.35

40

100

TYPE "100 A' FAMILY

6 DISC] R [TH DISG] Neoracs| Hcrans [TH PAD

278 [ 120.4 16

38.5 16

(A4100104




©©) brembo

P/IN XA1.37.11/14
4 PISTON F3000 CALIPER

TYPICAL APPLICATION

F3000
MOUNTING INFORMATION
Trailing Leading
RH XA1.37.12 RH XA1.37.14
LH XA1.37.11 LH XA1.37.13
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [sz] 48.06 Mounting Offset [mm] 44.1
42 Pad Area [sz] 55 Mounting Hole Dia. [mm] 9.75
Pad Thickness [mm] 18 Caliper Body 2 pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.86
Mounting Hole Center [mm] 152 Fluid Capacity 64.88

TYRE “132° FAMILY

@OISC| A |[THDISC Viormer | Homeay | TH PAD
@OISC| A 8 c 0 E F 1 MIN 280 |117.5 | 28 15 43 18
280 [156.6)142.4|136.2| 9B 96 90 |141.8 MAX 280 | 112.5 | 25.4 15 43 18




©©) brembo

P/N 20.8271.10/40
4 PISTON GT CALIPER

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION
Trailing Leading
RH 20.8271.20 RH 20.8271.40
LH 20.8271.10 LH 20.8271.30
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [sz] 32.67 Mounting Offset [mm] 42
36 Pad Area [sz] 65 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 26 Caliper Body Monobloc
Pad Family "140" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.98
Mounting Hole Center [nm] 180 Fluid Capacity 66.97
020
§ih f
| *
S s &
@i2.23 )
[ ou
134
133
9.5
a2
‘. 180
-
ki
fg\” ‘ |
! 1
1 | :
| T ¥
\ | : s 140
l‘ 90 9. - -
= olo|o|wlw|la 102 gF - 7ﬂ<
=
¢ ! r
R —6—6-‘———3# —
TYPE “140° FAMILY
gDISC| A 8 3 0 E F 6 | L POISC| R |TH DISC] Vioimes | Himos | TH PAD
355 | 200 [178.9(170.2] 131.2]123. 5] 125.3]121.3]173.5 356 |is1.3 ] 32 | s25 | so0 26




©©) brembo

P/N X9.060.91/94
4 PISTON GT CALIPER

TYPICAL APPLICATION

Grand Touring
MOUNTING INFORMATION
Trailing Leading
RH X9.060.92 RH X9.060.94
LH X9.060.91 LH X9.060.93
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cmz] 45.49 Mounting Offset [mm] 42
40 Pad Area [cmz] 65 Mounting Hole Dia. [nm] 12.23
Pad Thickness [mm] 26 Caliper Body Monobloc
Pad Family "140C-C" Caliper Material ~Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.92
Mounting Hole Center [nm] 180 Fluid Capacity 86.43
920
' 7 «
) - 7 L
' s Gl _ 2 7 m= g
P12.23 3 l N
NI i { o/
2 |
(=]
| ﬂ\g'
134 Q_
133 e
96.5 le 180
@ 2
r—-
|
— By
i S| o —
L
<m0 le jw e oo 102 %}V o — N
¢ | ' i
N A/
v TYPE *140 C-C* FAMILY
goisc| A | B [ c | 0| E F 6 | L POISC| R |TH DISC] Vinmsy | Himas | TH PAD
332 |186.5] 168 [167.4[158.7] 120 | 112 [111.8]109.8 MIN | 332 | 140 | 3 53 51 | 6.5
355 | 200 [179.6]178.9]170.2| 131.5{125.5] 125.3]121.3 M | 355 | 151 3 53 51 | %.5




P/N X99.73.11/14
4 PISTON GT CALIPER

F

TYPICAL APPLICATION

Porsche Grand Touring (GT3-R) front

MOUNTING INFORMATION

TECHNICAL SPECIFICATION

Trailing Leading
RH X99.73.12 RH X99.73.14
LH X99.73.11 LH X99.73.13

Piston Size [mm] 36 Piston Area [cm2] 50.76 Mounting Offset [mm] 42
44 Pad Area [cm2] 77 Mounting Hole Dia. [mm] 12.15
Pad Thickness [mm] 26.5 Caliper Body 2 Pieces
Pad Family "132A" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 4.00
Mounting Hole Center [mm] 210 Fluid Capacity 111.6
820.25
=
T
|+ :
T ] :
di | a
T
[ @12.15
@ 28 &
] 8}‘
130.8 o
128.3 b
118
8.9 1
[EX
@
i [N
" 11
—— v
""L" T
| s E'E ¥ r_¥ 1ﬂr 132
a4t = J a —— P
s | B o "
=m0 Wk oL Ix 'sg 2
I s B e P
¢ | TYPE *132A" FAMILY
! S
gDIsc| A ] t 0 E F 6 | L [ gOISC| R |TH DISC Vioimes | Himos | TH PAD
380 |210.9]199.9(191.2] 189.3]168.9|156.6] 130 [122.3]124.8 380 | 158 32 [ 61 26




P/N X9.060.51/54
4 PISTON GT CALIPER

TECHNICAL SPECIFICATION

RH X9.060.52
LH X9.060.51

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION
Trailing

Leading
RH X9.060.54
LH X9.060.53

Piston Size [mm] 38 Piston Area [cmz] 53.09 Mounting Offset [mm] 42
44 Pad Area [cmz] 65 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "140"-"140C-C" Caliper Material ~Aluminium
Disc Thickness [mm] 35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.92
Mounting Hole Center [nm] 180 Fluid Capacity 103.5
|
i
140
0// N
w
TYPE “140 C-L* FARILY
10 gy
; - :
= TYFE *140° FANILY
GOISC| A B | ¢ D | E F G| L BOISC| R [THDISO) Veumes | Mumau | TH PAD
332 [188.5] 168 [167.4158.7[ 120 | 112 | 110.8]109.8 NN | 332 | w0 | 28 53 50 25
355 | 200 [179.5]178.9 [ 170.2 | 130.5]123.8] 123.3]121.3 Mx | 358 | 481 35 53 51 | 2.5
X90005154




P/N X9.060.71/74

4 PISTON GT CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION
Trailing

RH X9.060.72
LH X9.060.71

Leading
RH X9.060.74
LH X9.060.73

Piston Size [mm] 38 Piston Area [cmz] Mounting Offset [mm] 42
44 Pad Area [cm?] Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] Caliper Body Monobloc
Pad Family "140"-"140C-C" Caliper Material ~Aluminium
Disc Thickness [mm] Piston Insert  Titanium
Hydraulic Threads Weight [Kg] 2.92
Mounting Hole Center [mm] Fluid Capacity 103.5
’n ! ']
|
' ~
§12.23 %
a
a2 *
LR f}“
(=]
134
133 A
96.5
1]
r—-
|
E | \ "
| ¢ TYPE *140 C-C* FAMILY
(] [ 2
| . 140
90 9,' O
«<lm|o " 102 E]" ;&
B =
¢
- TYPE *140" FAMILY
# DISC 3 E F 6 | L POISC| R |TH DISCY Vinmss | Himas | TH PAD
332 167.4 120 | 112 [111.8]109.8 332 | 10 | 32 53 50 | 26.5
355 178.9 131.5]125.5] 125.3]121.3 35 | 181 | 32 53 51 | %.5




©©) brembo

P/IN XA2.30.21/24
4 PISTON LATE MODEL REAR

TYPICAL APPLICATION

Late model rear

MOUNTING INFORMATION

Trailing Leading
RH XA2.30.22 RH XA2.30.24
LH XA2.30.21 LH XA2.30.23
TECHNICAL SPECIFICATION
Piston Size [mm] 24 Piston Area [cm2] 21.36 Mounting Offset [mm] 40
28 Pad Area [cm2] 39.5 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 26.70

- S
: L1
-
5.6 120
- - | -
4
T . r £,
T —
—r T - >
L , 1
y o . 4
|y 1 | -
: SR . B
[0 | ‘ — Y
‘ & T2/ T
w m oo lwle jols ‘ @4 | =|
¢ = i .
w2 =
R T .‘ ¥ ff‘fj)oo' ,F,”,"AL,Y
poisc| A | B | C | D |E[F |8 | W [BOISC| R [TH OIS Yeoness | Mo | TH PAD
270 | 156 | 150 7 (142 45| 140 | 135 99.5\9&1 945 218 | 1184 | 1% 15 25 | 16

RLEEIFI |




©©) brembo

P/IN XA2.30.11/14
4 PISTON LATE MODEL REAR

TYPICAL APPLICATION

Late model rear

MOUNTING INFORMATION

Trailing Leading
RH XA2.30.12 RH XA2.30.14
LH XA2,30,11 LH XA2,30,13
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm2] 24.75 Mounting Offset [mm] 40
30 Pad Area [cm2] 39.5 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 30.94

‘IDUQN;I&IJX

e e e e

TYPE “100" FANILY

16 65 | @25

goisc| A _\._n+_n_ '”lSC\ [ ‘mmsc Vesaes | Hime \!H_PAD_
| s

270 | 156 ﬁso 7_114_24_5 uo us KD _s 218 | 1184 16
XA




©©) brembo

P/N XA2.30.31/34
4 PISTON LATE MODEL REAR
TYPICAL APPLICATION
Late model rear
MOUNTING INFORMATION
Trailing Leading
RH XA2.30.32 RH XA2.30.34
LH XA2.30.31 LH XA2.30.33
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm2] 32.29 Mounting Offset [mm] 40
34 Pad Area [cm2] 39.5 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 40.36
2024
ou o250
= £
S .
# ‘ Sl
1) P9 <
= ¢ ott
< 00
" 4
- 858 | 120 fr
A0
- B S N £l
e " )
71 L | ] ! [ E)
s \ | 21 — 100
~ 3 -
[0 | ‘ —‘ Y e
| B & |-
w o |ulolwe |aols ‘ M. | z|
t 2 i .
® VD VD Vi S W - o — .‘ ¥ ff‘fj)oo' ,F,”,"AL,Y
poik| A | B | C | O | E | F | @ | W [BOISC| R [THOISCH Yiosess | Homss | TH PAD
278 | 156 | 150 7(142.45) 140 | 135 | 94.3 i 351|945 218 | 184 | 1% 14 25| 18
RLEEIEIRT)




P/N 20.8330.10/40

4 PISTON NASCAR CALIPER

TECHNICAL SPECIFICATION

Piston Size [mm] 38
44

Piston Area [cm2]

Pad Area [sz]

Pad Thickness [mm]

Pad Family

Disc Thickness [mm]
Hydraulic Threads
Mounting Hole Center [mm]

TYPICAL APPLICATION
NASCAR

53.09
65
26-30
"140"
32-35
M10x1
180

MOUNTING INFORMATION
Trailing
RH 20.8330.20
LH 20.8330.10

Leading
RH 20.8330.40
LH 20.8330.30

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

42

12.23
Monobloc
Aluminium
Titanium
3,05

130.0




P/N XA2.E5.01/04

4 PISTON NASCAR REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION
Trailing
RH XA2.E5.02
LH XA2.E5.01

Leading
RH XA2.E5.04
LH XA2.E5.03

TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cmz] 24.75 Mounting Offset [nm] 53.5
30 Pad Area [cmz] 63 Mounting Hole Dia. [nm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.20
Mounting Hole Center [nm] 120 Fluid Capacity 36.39
ety P — | I A.J 132
: = | T/ = j
TN —
' "_ r—
e lmio = wie ‘ t_ffw =
¢ | o | \ 1]
b L _—/ TYPE “132% FAHILY
goisc| A |8 | c | o | E|F [eoisc] & [ 015t Vi [ Wimew [T PAD
13 [ 16.80160.2) 159 [ V109 107.% 1059 MIN | 1Yy | 1w 28 Qs | a8 | 2
20 | a8y Diss [ ies sy al fie [nza we | 128 (03| 2 Jsas| a5 | 2

IR




P/N XA2.E5.11/14

4 PISTON NASCAR REAR

TECHNICAL SPECIFICATION

RH XA2.E5.12
LH XA2.E5.11

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION
Trailing

Leading
RH XA2.E5.14
LH XA2.E5.13

Piston Size [mm] 30 Piston Area [cmz] 32.29 Mounting Offset [nm] 53.5
34 Pad Area [cmz] 63 Mounting Hole Dia. [nm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.15
Mounting Hole Center [nm] 120 Fluid Capacity 47.47
&
T 51, 2 =X
F"l—l\ RS
132

‘i TYPE *132° rAMILY
p0ISC| A | B €| b E | F BOISC| R ITHDISC] Vierses | Pimas | TH PAD
13 [1#6.5]160.2] 163 | 1103 [ 1005 105.9 MmN | 313 13 | 28 1.5 a3 20
328 | 183 [166:7 (1655  1Toe | e 1124 wx | 328 | 0.3 | 32 53.5 4 20
IRESTIN

4

7




©©) brembo

PIN XA3.A4.71/74
4 PISTON NASCAR RESTYLING REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION
Trailing Leading
RH XA3.A4.72 RH XA3.A4.74
LH XA3.A4.71 LH XA3.A4.73
TECHNICAL SPECIFICATION
Piston Size [mm] 24 Piston Area [sz] 21.36 Mounting Offset [mm] 53.5
28 Pad Area [sz] 38 Mounting Hole Dia. [mm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 24 -25.4 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 35.24

' 50.3

TIFE 108" FAMILY

goisc| A | B c D @ DISC R |TH DISO] Veowes | Mimeas | TH PAD
278 | 156.6150.8| 140.0 | 93.5 MIN 218 | 1144 24 5 42.5 20
M3 174 1| 168.3] IS2.5] 111 MAX 313 | 135.5 | 254 45 625 20
XAIMTI TR




©©) brembo

P/IN XA3.A4.41/44
4 PISTON NASCAR RESTYLING REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION
Trailing Leading
RH XA3.A4.42 RH XA3.A4.44
LH XA3.A4.41 LH XA3.A4.43
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [sz] 24.75 Mounting Offset [mm] 53.5
30 Pad Area [sz] 38 Mounting Hole Dia. [mm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 24 -25.4 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 1.75
Mounting Hole Center [mm] 120 Fluid Capacity 40.84

- e
|
1 D
o TIPE 100" FMILY
goisc] a - 3 o | [ooisc] R [TH0ISE] Vavees | Himeoe | TH PAD
218 | 1566 | 150,81 140.01 3.5 | oL LAY <O LT U R Y 5 1 e
RIS CHEEIREEYE EREEAED
TAJAMLU




N O brembdo

b
a8

P/N XA3.A4.01/04
4 PISTON NASCAR RESTYLING REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION
Trailing Leading
RH XA3.A4.02 RH XA3.A4.04
LH XA3.A4.01 LH XA3.A4.03
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [sz] 32.29 Mounting Offset [mm] 53.5
34 Pad Area [sz] 38 Mounting Hole Dia. [mm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 24 -25.4 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 53.28

' 50.3

TIFE 108" FAMILY

gnisc| A | B | € D @ DISC R |TH DISO] Veowes | Mimeas | TH PAD
278 | 156.6150.8| 140.0 | 93.5 MIN 218 | 1144 24 5 42.5 20
M3 174 1| 168.3] IS2.5] 111 MAX 313 | 135.5 | 254 45 625 20
YAJALD104




©©) brembo

P/IN XA3.A4.81/84
4 PISTON NASCAR RESTYLING REAR (SPACERS)

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION
Trailing Leading
RH XA3.A4.82 RH XA3.A4.84
LH XA3.A4.81 LH XA3.A4.83
TECHNICAL SPECIFICATION
Piston Size [mm] 24 Piston Area [sz] 21.36 Mounting Offset [mm] 53.5
28 Pad Area [sz] 38 Mounting Hole Dia. [mm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 35.24

' 50.3

TIPE “100" FAMILY

goisc| A | B [ C | D | |@DISC| R |THDISCY Veoumes | Humeu | TH PAD
13 a0 sa.3f s8] 1| | 313 [i3ss| 2 6 | 25| 20
YAJARR (04




©©) brembo

P/N XA3.A4.51/54
4 PISTON NASCAR RESTYLING REAR (SPACERS)

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION
Trailing Leading
RH XA3.A4.52 RH XA3.A4.54
LH XA3.A4.51 LH XA3.A4.53
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [sz] 24.75 Mounting Offset [mm] 53.5
30 Pad Area [sz] 38 Mounting Hole Dia. [mm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 1.90
Mounting Hole Center [mm] 120 Fluid Capacity 40.84

' 50.3

TIPE “100" FAMILY

goisc| A | B [ ¢ | D |
33 1241 s3] s8] 1|

135.%

1anxsc~ [ 'mmsc umlnwb{m_m_
|

FIE] 2 | & | 25| 20
KAIALS 1S4




©©) brembo

P/N X97.60.81/84
4 PISTON RALLY CALIPER

TYPICAL APPLICATION
Rear gravel WRC

MOUNTING INFORMATION

Trailing Leading
RH X97.60.82 RH X97.60.84
LH X97.60.81 LH X97.60.83
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [sz] 34.49 Mounting Offset [mm] 53.5
36 Pad Area [sz] 62 Mounting Hole Dia. [mnm] 10.26
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.40
Mounting Hole Center [mm] 120 Fluid Capacity 39.66
=t
4
a’-
9%
2.3
. 53.5
— i L
I_)
88 a [ 132 o
< oWl W ow ” %’V o
=
¢
=0
TVPE *132° FMAILY
goisc| A | 8 [ ¢c [0 ]| E F gOISC| R [THDISC] Vinimss | Himeos | TH PAD
300 [172.9]150.1]153.5[100.3] 89.1 | 92 MIN | 300 |126.6 | 254 | 525 | 49 16
313 [178.7] 160.4159.3 [ 1066 105.4] 103.4 max | a3 |39 28 | ses5 | @ 16




©©) brembo

P/N X97.60.41/44
4 PISTON RALLY CALIPER

TYPICAL APPLICATION
Front gravel WRC

MOUNTING INFORMATION

Trailing Leading
RH X97.60.42 RH X97.60.44
LH X97.60.41 LH X97.60.43
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [sz] 50.76 Mounting Offset [mm] 48
44 Pad Area [sz] 62 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.38
Mounting Hole Center [nm] 180 Fluid Capacity 58.38

g20
! -
g12.23
o
118
93.5 o
66.8 . 180
t,/ 48

t

| .

82.5 ?- - 32 -l
< | olulo|wlw 93.5 !_ﬁ_ »

¢ | s i
-__-34_&
TYPE *132° FAMILY

PDISC| A B c 0 E F POISC| R |THOISC Viomes | Himas | TH PAD
300 |172.9{154.1]153.5]/100.3|99.1 | 97 MIN 300 | 126.6 | 25.4 52.5 49 16
313 | 176.7]160.4 | 159.3 | 106.6 | 105.4 | 105.4 MAX 313 |132.3 | 28 52.5 L] 16




©©) brembo

P/N XAO0.80.51/54
4 PISTON RALLY CALIPER

TYPICAL APPLICATION

Front Super1600
MOUNTING INFORMATION
Trailing Leading
RH XA0.80.52 RH XA0.80.54
LH XA0.80.51 LH XA0.80.53
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cmz] 48.06 Mounting Offset [mm] 42
42 Pad Area [cmz] 62 Mounting Hole Dia. [nm] 12.23
Pad Thickness [mm] 16 Caliper Body Monobloc
Pad Family "132" Caliper Material ~Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 2.10
Mounting Hole Center [nm] 180 Fluid Capacity 55.27
- 220.35
pi2.23 !
g - =
gu * @'N
(=]
14,2 S
20 65.5
58.2
: 180
kf ,g,/ 42 |
—_— ) ] "
1 ( o ‘4#‘ ]
< il ~
i H
11.2 S - 132 "
| olw ofw wl o 91.2 E}‘ =
o i
N;

TYPE M13% FANILY
goisc| A | B [ c | 0| E F 6 POISC| R |TH DISC] Vinmss | Himas | TH PAD
295 [172.3]152.1 [ 141.3[104.5] 97.1 | 96.5 | 94.1 MIN | 205 [120.¢ [ 254 J 05 | @& 16
355 198911795 169.6 | 134.5[126.4| 125 [125.4 wax | 355 [1s17 | 28 | sa5 | a8 16




©©) brembo

P/N X2.029.71/74
4 PISTON TOURING REAR CALIPER

TYPICAL APPLICATION

Touring car (Rear)
MOUNTING INFORMATION
Trailing Leading
RH X2.029.72 RH X2.029.74
LH X2.029.71 LH X2.029.73
TECHNICAL SPECIFICATION
Piston Size [mm] 24 Piston Area [sz] 21.36 Mounting Offset [mm] 48.8
28 Pad Area [sz] 38 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 20 Caliper Body 2 pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.70
Mounting Hole Center [mm] 120 Fluid Capacity 35.24

TYPE *100° FAMILY

goIsc| A ] c o E F BOISC| R [THDISCY Viorees | Homoo | TH PAD
218 | 156 |143.4|140.9(125.9] 93,7 | 92.7 218 | 118.2 16 46 2.5 16




P/IN XA2.29.11/14
4 PISTONS IRL

Piston Size [mm] 36
40

TECHNICAL SPECIFICATION

Piston Area [cm2]
Pad Area [sz]

Pad Thickness [mm]
Pad Family

Disc Thickness [mm]
Hydraulic Threads

Mounting Hole Center [mm]

45.49
38.2

20
"90C-C"
23
M10x1
110

TYPICAL APPLICATION
IRL

MOUNTING INFORMATION
Trailing
RH XA2.29.12
LH XA2.29.11

Leading
RH XA2.29.14
LH XA2.29.13

Mounting Offset [mm] 40
Mounting Hole Dia. [mnm] 10.26
Caliper Body Monobloc

Caliper

Material Aluminium

Piston Insert Aluminium

We

ight [Kg] 1.50

Fluid Capacity 45.49

LALLE L | £
325 | 181 |182.1|159.)

225.9

e, BN
-
=

TTPE *90 C-C* FAMILY

p0Ic| R [MND
325 uns\ i

150 Wigrams | Moo | TH PAD
14 5 20

WA




P/N XA3.B7.51/54
4 PISTONS IRL

TECHNICAL SPECIFICATION

RH XA3.B7.52
LH XA3.B7.51

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION
Trailing

Leading
RH XA2.B7.54
LH XA2.B7.53

B DISC| A B ¢ D E
328 182 (165.7(114.2| 98.9 | 95.9

Lipe

g DISC

o
<

Piston Size [mm] 30 Piston Area [cm2] 55.35 Mounting Offset [mm] 42
32 Pad Area [cm2] 93 Mounting Hole Dia. [mnm] 12.23
40 Pad Thickness [mm] 30 Caliper Body Monobloc
Pad Family "164A" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 - 35 Piston Insert
Hydraulic Threads M10x1 Weight [Kg] 3.3
Mounting Hole Center [mm] 210 Fluid Capacity 168.84
273 | :’
»20,1 S
| o
e "y
e
I ”/ﬁ“;.”
P ) = .,
@12,28
@24

184

<
S~

TYPE "164A" FAMILY

B DISC R |TH DISC| W(p1sc) | H (pap) |TH PAD
MIN 320 | 134.5 32 84 83 30
UAX 329 | 134.5 35 84 63 30

{A3BTS154




©©) brembo

P/IN XA4.F1.01/02
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring
MOUNTING INFORMATION
Trailing Leading
RH XA4.F1.02 RH XA4.F1.02
LH XA4.F1.01 LH XA4.F1.01
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cmz] 49.13 Mounting Offset [mm] 42
30 Pad Area [cmz] 78.5 Mounting Hole Dia. [nm] 12.23
38 Pad Thickness [mm] 29 Caliper Body Monobloc
Pad Family "164" Caliper Material ~Aluminium
Disc Thickness [mm] 32 -35 Piston Insert  Titanium
Hydraulic Threads  M10x1 Weight [Kg] 3.10
Mounting Hole Center [mnm] 210 Fluid Capacity 115.4

| ‘P'=83,5

= SRRSO

| TYPE “184" FAMILY

9 0IS0| A L) ¢ 0 3 F 9 015G] B [T DISC Wiexser| Kimaas [TH PAD
358 |203.1[178.5{137,5| 124 |122.5|119.2 iy 385 | 182.% 3 §2.5 | 52.3 28
380 R11.2% 192 [149.9)136.5]133.3[130.5 §AX 380 | 1845 3% 52.5 | 52.3 28

e




©©) brembo

P/IN XA4.F1.11/12
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring
MOUNTING INFORMATION
Trailing Leading
RH XA4.F1.12 RH XA4.F1.12
LH XA4.F1.11 LH XA4.F1.11
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cmz] 49.13 Mounting Offset [mm] 42
30 Pad Area [cmz] 71 Mounting Hole Dia. [nm] 12.23
38 Pad Thickness [mm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads  M10x1 Weight [Kg] 3.10
Mounting Hole Center [mnm] 210 Fluid Capacity 120.3

i i -
</ =
| — __ S
| 3
1 ez, 23 . P2
NI s
o = LS 8
= J ADISE o
140,1 . -
‘ 100 |
42
210
6
'y - »e‘ ' . e T 4
| o =" =1
=== L R A
I | g2, NI || 164
Rt .i . - L -
108,3 = 1| | S— —— i | -
| fl - !
< g|da|wy 130,8 =4 ‘ " " I—
T L ==t =
€ | | 1
| | = —
e e —,
TYPE "184D C-C' FAMILY
9 0180] & ] 3 ] 5 3 9 0156] A 1 0150 Wiexwer] Biman) [TH PAD
158 |203.1]178.8{137.3] 124 [122.3]119.2 wv | 355 [1s2.5 | a7 T T
380 11,28 192 [149.8[136.5]135.3] 1305 WAL | 380 [184.5 | 37 | s2.3 | s2.3 | 313

(LS AR ¥




©©) brembo

P/IN XA4.F1.21/22
6 PISTON CALIPER

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION
Trailing Leading
RH XA4.F1.22 RH XA4.F1.22
LH XA4.F1.21 LH XA4.F1.21
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cmz] 49.13 Mounting Offset [mm] 42
30 Pad Area [cmz] 78.5 Mounting Hole Dia. [nm] 12.23
38 Pad Thickness [mm] 29 Caliper Body Monobloc
Pad Family "164" Caliper Material ~Aluminium
Disc Thickness [mm] 32 - 35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 3.10
Mounting Hole Center [mm] 210 Fluid Capacity 115.4
2086,5
k d n.l
421 o
T* L
>
4

12,23 :.

J | ¢ee EL

=] |

=l |

140,11 1
86,6 |
42 |

TYPE '1840% FANILY

B DISC| A B C n E F 0 DIsC B 1 DISE] Wioswed] Hirmed [TH PAD
358 |203.1|178.5|187.8| 124 [122.8]115.2 Wiy 385 | 152.5 §2 §2.5 | 52.5 29
880 R11.25 102 |149.8(136.6(133.3|130.5 WAX 380 | 164.5 35 52.5 | 52.5 29

AT




©©) brembo

P/IN XA4.F1.31/32
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA4.F1.32 RH XA4.F1.32
LH XA4.F1.31 LH XA4.F1.31

TECHNICAL SPECIFICATION

Piston Size [mm] 28 Piston Area [cmz] 49.13 Mounting Offset [mm] 42
30 Pad Area [cmz] 71 Mounting Hole Dia. [nm] 12.23
38 Pad Thickness [mm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 3.10
Mounting Hole Center [mm] 210 Fluid Capacity 120.3
2086,5
k d n.l
421 o
T* L
>
4
— N\ [ )
| — i - 7 15 ©
E__——' . | i
| S |
012,28 =
4| 68 Sil_ R
=l | A-DISC
140,1 1
86,6 |
A2
|
y
- 164
<
TYPE 184D C.C* FANILY
5 018¢| A B C ] E F 0 018¢| R [t DISE] Wivrens] Hirme: [TH PAD
358 |209.1[178.5[197.3 124 |122.8]115.2 wiv | 385 [1s2.5 | @1 48 48 | 31,8
380 i1.25 192 [149.8[126.5]133.3]130.5 uax | 380 [164.5 | 87 | s2.5 [ s2.5 | 31,5
ALLIAR L]




P/N XA5.C2.01/02
6 PISTON CALIPER

TYPICAL APPLICATION
GT Narrow

MOUNTING INFORMATION

Trailing Leading
RH XA5.C2.02 RH XA5.C2.02
LH XA5.C2.01 LH XA5.C2.01
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm2] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm2] 78.5 Mounting Hole Dia. [mnm] 10.23
38 Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "164" Caliper Material ~ Aluminium
Disc Thickness [mm] 25 - 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mnm] 210 Fluid Capacity 81.07

164

164
o
<| = a o
————t————— % TYPE *164 D* FAMILY
8 0ISC| A B C ] E B DIsC B |TH RIS Wisisc)| Kirany | TH PAD
356 [198,5] 177 | 120 | 118 | 118 UL 355 | 162,56 32 52,5 52,5 (22 (164)
380 218 |192,9|186,5/134,9|132,6 (L} 380 |184,5 32 52,5 52,5 (25 (w0 C0)

TARCI0D




©©) brembo

P/N XA5.E5.01/04
6 PISTON CALIPER

TYPICAL APPLICATION

GP2
MOUNTING INFORMATION
Trailing Leading
RH XA5.E5.02 RH XA5.E5.04
LH XA5.E5.01 LH XA5.E5.03
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [sz] 46.80 Mounting Offset [mm] 51.6
30 Pad Area [sz] 63 Mounting Hole Dia. [mnm] 10.23
36 Pad Thickness [mm] 23 -24 Caliper Body Monobloc
Pad Family "155C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 26 - 28 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 1.85
Mounting Hole Center [mm] 152 Fluid Capacity 77.23

155

TYPE "155" FAMILY

o 01sc| 8 [ru 0ISCh Wyezscy| Wieap) [TH PAD
8 01sc| A ] ¢ ) £ ¥ wIn | 278 | 112 28 a“ a“ 23
278 | 156 [154,5] 140 | 150 | 94 [ot1,4 x| ers | 1z 28 IT] “ 24
RASESQ194




P/N XA6.61.01/04
6 PISTON CALIPER

TYPICAL APPLICATION

GT
Trailing
RH XA6.61.02
LH XA6.61.01
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm2] 49.13
30 Pad Area [sz]
38 Pad Thickness [mm]
Pad Family

Disc Thickness [mm]
Hydraulic Threads
Mounting Hole Center [mm]

MOUNTING INFORMATION

Leading
RH XA6.61.04
LH XA6.61.03

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

Monobloc
Aluminium
Steel




P/N XAG6.H7.01/02
6 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION
Grand AM

MOUNTING INFORMATION
Trailing
RH XA6.H7.02
LH XA6.H7.01

Leading
RH XA6.H7.02
LH XA6.H7.01

Piston Size [mm] 28 Piston Area [cm2] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm2] 78.5 Mounting Hole Dia. [mm] 12.23
38 Pad Thickness [mm] 22 Caliper Body Monobloc
Pad Family "164" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mnm] 210 Fluid Capacity 81.07
161,56 145
]
164
i
+
< =m
e .- TYPE *164 D* FAMILY
B 0I18C| A L} 13 0 13 0 0IsQ R [TH DISCY Wiptss)| Wiran) | TH PAD
358 |tsa,8] 177 [ 120 | 119 | 118 THECHEIEN T ED
380 | 203 |182,3{136,5[13¢,9]132,8 oax | 280 [1ee,s| 32 | sz,5 | sz5| 22

IASNTYIOZ




©©) brembo

P/IN XA3.02.11/12
6 PISTON CALIPER

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION
Trailing Leading
RH XA3.02.12 RH XA3.02.12
LH XA3.02.11 LH XA3.02.11
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [sz] 55.35 Mounting Offset [mm] 42
32 Pad Area [sz] 7 Mounting Hole Dia. [mm] 12.23
40 Pad Thickness [mm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 135.6
I @12.23
ll IL
<
ISt
J 1
1401
‘ 6.5
‘ 4?2
)
LA
17
92.3
105.3 1%
< @ ul oW~ 130.8
Q @
— TIPE *1640 C.C* FANLLY
goisc| A | B 3 0 E F $OISC| R [THOISCH Vinmss | Himas | TH PAD
355 2031 178.5[137.3| 124 [122.5{ 8.2 MIN | 386 [152.5 | 3 [ [ K
360 [211.25] 192 [149.8]136.5]135.3]130.5 WX | 380 | 164.5 | 37 53 51 | 31,5
XASOZ11124

67



©©) brembo

P/IN XA3.02.21/22
6 PISTON CALIPER

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION
Trailing Leading
RH XA3.02.22 RH XA3.02.22
LH XA3.02.21 LH XA3.02.21
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [sz] 55.35 Mounting Offset [mm] 42
32 Pad Area [sz] 78.5 Mounting Hole Dia. [mm] 12.23
40 Pad Thickness [mm] 29 Caliper Body Monobloc
Pad Family "164D" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 -35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 130.0

164 ;

TYPE “164D" FAMILY

BDISC| A B8 c 0 E F POISC| R |THOISC Viamss | Himos | TH PAD
355 | 203.0 | 178.6 | 137.3| 124 [122.5]119.2 HIN 356 | 152.5 | 32 82.5 | 5.5 29
380 |211.25] 192 | 149.8136.5{133.3]130.5 MAX 380 | I6d.5 | 35 52.5 | 52.5 29




©©) brembo

P/IN XA3.02.31/32
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

TECHNICAL SPECIFICATION

Trailing Leading
RH XA3.02.32 RH XA3.02.32
LH XA3.02.31 LH XA3.02.31

Piston Size [mm] 30 Piston Area [sz] 55.35 Mounting Offset [mm] 42
32 Pad Area [sz] 78.5 Mounting Hole Dia. [mm] 12.23
40 Pad Thickness [mm] 29 Caliper Body Monobloc
Pad Family "164" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 -35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 130.0

w
[
[
©
P

6 DISC .
L}

H’ AN T ,a"
. .
- ' F = L
& TR
1] i
Ol
B DISC| A B ¢ D E F B DISC R |TH DISC| Wioxsoy| Hcwany |[TH PAD
855 |203.1|178.5(137.3| 124 [122.5(119.2 MIN 355 [182.5 32 52.% | S2.% 28
380 [211.28 182 [149.8|186.5/138.8(1230.5 HAX 380 | 184.5 35 52.5 | §2.5 28

(A3023132




©©) brembo

P/IN XA3.02.41/42
6 PISTON CALIPER

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION
Trailing Leading
RH XA3.02.42 RH XA3.02.42
LH XA3.02.41 LH XA3.02.41
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [sz] 55.35 Mounting Offset [mm] 42
32 Pad Area [sz] 7 Mounting Hole Dia. [mm] 12.23
40 Pad Thickness [mm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 135.6

164

I —
TYPE "184G-C"' FAWILY

B DISC| A B ¢ D E F B DISC R |TH DISC| Wioxaas| Hcwany |[TH PAD
355 (203.1(178.5(137.3| 124 [122.5|119.2 MIN 385 | 182.5 37 48 48 31.5
380 [211.25 192 |149.8|186.5/138.3)|130.5 HAX 380 | 184.5 37 52.5 | 52.5 | 31.5

(A3024142

70



©©) brembo

P/N XA3.40.91/94
6 PISTON CALIPER

TYPICAL APPLICATION

GT
MOUNTING INFORMATION
Trailing Leading
RH XA3.40.92 RH XA3.40.94
LH XA3.40.91 LH XA3.40.93
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [sz] 55.35 Mounting Offset [mm]
32 Pad Area [sz] Mounting Hole Dia. [mm]
40 Pad Thickness [mm] Caliper Body Monobloc
Pad Family Caliper Material ~ Aluminium
Disc Thickness [mm] Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] Fluid Capacity #VALORE!




P/N X99.E8.01/04
6 PISTON TRANS AM CALIPER
TYPICAL APPLICATION
Trans Am Front
MOUNTING INFORMATION
Trailing Leading
RH X99.E8.02 RH X99.E8.04
LH X99.E8.01 LH X99.E8.03
TECHNICAL SPECIFICATION
Piston Size [mm] 32 Piston Area [cmz] 61.95 Mounting Offset [mm] 42
34 Pad Area [cmz] 81 Mounting Hole Dia. [nm] 12.23
42 Pad Thickness [mm] 22 Caliper Body Monobloc
Pad Family "164A" Caliper Material ~Aluminium
Disc Thickness [mm] 32 -35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mnm] 210 Fluid Capacity 102.2
A raza
[__1‘
i S
.J. §i2.23
g2
126.1
83.8
2
& Ll
L] | LI
' . 164
I B
c«lmlo/lo|lw wla 100.8 E
' =
¢ |
L TYPE *164C-C* FANILY
goisc| A | B [ c | 0| E F 6 POISC| R |TH DISC] Vinmss | Himas | TH PAD
328 | 183 [166.2{163.4| 115 |104.5]108.5] 100 MIN | 328 [130.5 | 32 | sa5 | 525 | 22
332 | 108 |168.2{165.4] 117 |106.5]105.5] 102 WX | 332 [ 1365 | 35 68 | 525 | 22




P/N X93.41.21/24
8 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION
WRC & Touring Car

MOUNTING INFORMATION

Trailing Leading
RH X93.41.22 RH X93.41.24
LH X93.41.21 LH X93.41.23

Piston Size [mm] 26 Piston Area [cmz] 53.40 Mounting Offset [mnm] 48
32 Pad Area [cmz] 31.6 Mounting Hole Dia. [nm] 12.23
26 Pad Thickness [mm] 20 Caliper Body 2 Pieces
32 Pad Family "80" Caliper Material ~Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads  M10x1 Weight [Kg] 2.98
Mounting Hole Center [nm] 180 Fluid Capacity 82.78
920.1
e e 1 1
i
2 3
v 3
g12.23
g
126.5
9
®
?( ! 180 -l
Y
"l I
i
. = 80
L & e F 5 5
<oluv|lo|w e g}‘ = =
¢ s == 1
\ TYPE *B0" FANILY
goisc| A | 8 | ¢ | o | E F POISC| R |TH DISCY Vinmss | Himas | TH PAD
355 | 198.5] 179 [174.5]130.8] 130.3] 1225 MIN | 356 [ 1565 | 32 | 005 | 48 20
360 | 211 [191.5] (87 [143.3]1e2.8] 140 wix | 380 [167.6 | 32 | 415 | 48 20

73




©©) brembo

P/N X97.60.21/24
8 PISTON CALIPER

TYPICAL APPLICATION

Rally
MOUNTING INFORMATION
Trailing Leading
RH X97.60.21 RH X97.60.24
LH X97.60.22 LH X97.60.23
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [sz] 53.40 Mounting Offset [mm] 48
32 Pad Area [sz] 34.4 Mounting Hole Dia. [mm] 12.28
26 Pad Thickness [mm] 20 Caliper Body Monobloc
32 Pad Family "80-H51" Caliper Material ~Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [nm] 180 Fluid Capacity 109.4

*P"=57,5

TYPE "80" FAMILY

8 0186 m frw 013¢] Wiesse)| Wirasy [ TH PAD
0 o1sc| A ] 3 ] 3 HEHEINIKIEE EETD 20
310 |207,3]186,6]180,8[133,6[191,4 max | a0 [ren, s 32 Jsas | st 20
mreetae

74



©©) brembo

P/N XA5.D6.01/04
8 PISTON CALIPER

TYPICAL APPLICATION
Rally
MOUNTING INFORMATION
Trailing Leading
RH XA5.D6.02 RH XA5.D6.04
LH XA5.D6.01 LH XA5.D6.03
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cmz] 53.40 Mounting Offset [nm] 45
32 Pad Area [cmz] 34.1 Mounting Hole Dia. [nm] 12.23
26 Pad Thickness [mm] 17.5 Caliper Body Monobloc
32 Pad Family "80-H51" Caliper Material ~Aluminium
Disc Thickness [mm] 30 - 32 Piston Insert  Titanium
Hydraulic Threads  M10x1 Weight [Kg] 2.52
Mounting Hole Center [nm] 180 Fluid Capacity 96.13

IYPE "BOA" FAMILY

|- —

v 0180] A ] [3 ] t P [ @ 018G] R [TW 0356] Weonscy| Hrasy | TH PAD
355 | 200 |183,8] 177 [ves,7] 152,86 124 [122.8 wiv | 385 | 185 | so | sz, 8| B0 | 17,8
310 |207,5|181,3|184,5|176,2| 160,1|133,5|130,3 war | ate |is24 | 82 |ses| s | a7

TASPOI 3¢

75



S

(O brembo

P/N 20.7958.10/40
8 PISTON CHAMP CAR FRONT/REAR CALIPER

TYPICAL APPLICATION

Champ Car
MOUNTING INFORMATION
Trailing Leading
RH 20.7958.20 RH 20.7958.40
LH 20.7958.10 LH 20.7958.30
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [sz] 53.40 Mounting Offset [mm] 42
32 Pad Area [sz] 31.6 Mounting Hole Dia. [mm] 10.10
26 Pad Thickness [mm] 22 Caliper Body Monobloc
32 Pad Family "80" Caliper Material Metal Matrix
Disc Thickness [mm] 28 - 30 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.22
Mounting Hole Center [mm] 210 Fluid Capacity 93.46
8
80
o o
=
A
TYPE *80° FANILY
Vioues | Himor | TH PAD
goisc| A B | c | o] € F Wi | 328 | 28 | a5 | a5 22
328 |182.5]165.4]159.5] 122.1 ]| 11a.3[ 111,86 mx | 328 | 30 | s35 | s 22

76



P/N X99.D0.01/04
8 PISTON RALLY (LIGHT) CALIPER
TYPICAL APPLICATION
Front tarmac caliper WRC
MOUNTING INFORMATION
Trailing Leading
RH X99.D0.02 RH X99.D0.04
LH X99.D0.01 LH X99.D0.03
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cmz] 53.40 Mounting Offset [nm] 48
32 Pad Area [cmz] 33.3 Mounting Hole Dia. [nm] 12.23
26 Pad Thickness [mm] 17.5 Caliper Body Monobloc
32 Pad Family "80" Caliper Material ~Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.40
Mounting Hole Center [nm] 180 Fluid Capacity 69.42
220.1 1l
32
o2
= 7 w
70N ‘ dl'A &
— ¥ Ao b2 L R
— \‘_, 2, B
l ©12.23 ' i N
T lea | e
a |
113.2 a}v | o 0%
116.5 = ¢
100.5 x |
58.4 -
'3 48
Ul 1 M
z 5 180 ;
T !
] =
l = 1 ﬁ 1 L
=t | b i o o
| == . =
Xl L 11 1
¢ ! | — - s | i | A
=N TYPE 80" FAMILY
goisc| A | B [ c | 0| E POISC| R |TH DISCY Vinmss | Himas | TH PAD
355 | 200 |180.3(178.1[173.4] 1246 MIN | 386 | 155 | 32 Jsas | 51 | 1nS§
370 |207.5] 187 [185.6|180.9]131.5 wix | 30 [e2.e | 32 | sas | s | 115




P/N X99.D0.11/14

8 PISTON RALLY (LIGHT) CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION
Front tarmac caliper WRC

MOUNTING INFORMATION
Trailing
RH X99.D0.12
LH X99.D0.11

Leading
RH X99.D0.14
LH X99.D0.13

Piston Size [mm] 26 Piston Area [cmz] 53.40 Mounting Offset [mm] 42
32 Pad Area [cmz] 33.3 Mounting Hole Dia. [nm] 12.23
26 Pad Thickness [mm] 17.5 Caliper Body Monobloc
32 Pad Family "80" Caliper Material ~Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.41
Mounting Hole Center [nm] 180 Fluid Capacity 69.42
920.1
4l
g |
(L) .
B L 5
116.2 g}.
135
91,5
S.
[
bl | 180 :
=7 " |
T ok
L d
, : 3 =
| 0
{ S | |- —
| & — i 3 Q
<clmlulalw | ] B N | i 1 G i
| i}' = = e | e | ®
Q i -
TYPE 80" FAMILY
goisc| A | 8B [ c | 0] E GOISC| R |THDISC Vinusy | Himas | TH PAD
355 | 200 |180.3(178.1|173.4] 1246 MIN | 386 | 155 | 32 Jsas | 51 | 1nS§
370 |207.5] 187 [185.6180.9] 131.5 wix | 30 [62.8 | 32 | sas | s | 115

78




P/N 22.5882.11/21
HANDBRAKE CALIPER

Piston Size [mm] 36

TECHNICAL SPECIFICATION

Piston Area [cm2]

Pad Area [sz]

Pad Thickness [mm]

Pad Family

Disc Thickness [mm]
Hydraulic Threads
Mounting Hole Center [mm]

TYPICAL APPLICATION

20.35
26
10

26 - 32
M10x1
92

MOUNTING INFORMATION
Trailing
RH 22.5882.12
LH 22.5882.11

Leading
RH 22.5882.12
LH 22.5882.11

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body
Caliper Material
Piston Insert
Weight [Kg]

Fluid Capacity 20.35






